Reebok ONE GT30 Reebok
REEBOKFITNESSEQUIPMENT.COM/PRODUCTSUPPORT ON E SE R I ES Ass E M B LY G U I D E O N E SE R I ES




= _Reebok

Images for illustration purposes only




ONE GT30
ASSEMBLY GUIDE

>% Reebok

Images for illustration purposes only

1

| Nannnunnnun

| RULTHRMM A
o -




RSBy GUIDE Reebok




ONE GT30
ASSEMBLY GUIDE

0 N O a b~ O N -

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40

Base frame

Platform frame

Incline frame

Upright frame

Check pipe

Computer frame
Computer set

Handle pulse

Safety key

Motor cover

Side rail

Rear cover (left)

Rear cover (right)
Controller

Transformer

Filter (if with CE)
Inducement (if with CE)
Power cord

Cable guider

Fuse

Switch

Wire L-800

Wire protector

Wire L-1100

Wire L-850

Handle pulse wire
handle bar cover (right)
Power wire L-350 (red)
Power wire L-350 (black)
handle bar cover (left)
Speed sensor

Speed sensor bracket
Foam grip

Tube end cap

Motor

Square cushion

Motor Mounting Plate
Motor belt

Front roller

Running deck

1
1
1

S NN -

(o]

41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82

Running belt

Rear roller

Wheelp46

Cylinder

End cap ®33x$23x48

Taper feet pad ¢28x@23xt11xM8x20
Wheelp62

Spring

Spring washer @8

Allen C.K.S.half thread screw M8x50x20
Screw ST4x16

Philips self-tapping screw ST4x35

Allen C.K.S.half thread screw M8x30x20
Flat washer ®8

Hex self-locking nut M8

Allen C.K.S. full thread screw M10%x25
Flat washer ®10

Hex self-locking nut M10

Allen C.K.S.half thread screw M10x70x20(level 8.8)

Allen C.K.S.half thread screw M8x40x20
Allen C.K.S. full thread screw M8x15
Philips C.K.S. full thread screw M5x10
Square cushion

Metal plug ®17xP10x7

MP3 wire

Flat washer ®©4.5x®12xt1.0

Cable guider

Philips C.K.S. full thread screwM4x10
CHOKE @29x¢17xt7.5

Washer ®5

Hex full thread screw M8x75

Motor resist screw M8x65

Allen C.K.S.half thread screw M10x35%20
Allen C.K.S.half thread screw M10x55x25
Double-face glue

Incline motor

Side rail guide®25x®d5x4.5r

Philips full thread screw M6x40

Allen socket full thread screw M8x75(level 8.8)
Allen socket full thread screw M8x20
Philips C.K.S. full thread screw M4x6
Philips self-tapping screw ST3x10

A DN AN DA A AN A A

_ N
PN

=T A A A N OO O O N W W N ™

A NN W O O = a2 aAa a a a a -

83
84
85
86
87

Philips self-tapping screw ST4x50
Allen socket full thread screw M8x25
T shape wretch

Silicon bottler(30ml)

Locking mechanism

Computer set

Computer housing

LCD overlay(w/PCB of monitor)

Back cover of console

overlay for console

Touchscreen LCD

PCB board

safety key

Button for safety key

Philips C.K.S. Self-tapping screw PWA2.6 X6 X6
Yellow sticker

Philips C.K.S. Self-tapping screw ST4*10

A A a NN

A A A A A A A A A

- W

Reebok







